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CBA Practice model answers

Basic Costing (BCCG)
Practice 4

Section 1
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Task 2.13
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Classify the following costs incurred by their behaviour (fixed, variable or semi-variable) by putting a tick
in the relevant column of the table below.

|Annual insurance of taxis

[Fuel used intads

|Rent of taxi ofice

[Telephone costs which include a monthiy rental and
la costfor each call made
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You are required to classify the revenue and expense transactions shown in the transaction column of
the table below using the code column for your answer. The first two transactions have been coded for
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You are required to classify the transactions listed in the transaction column of the table below using the code column for
your answer. The first code has been done for you.

lWaterial I IDirect Cost lo1o [salaries ofprocuction | o0
[workers

lindirect Cost lo20 ﬁo;::;;weelener used |0

ILabour L IDirect Cost lot0 [rameine cepresaton | 5050

lindirect Cost lo20 :v:;ﬁ:;m'" potting [

loverheads o IDirect Cost lo1o [ages arceanrs e |

Indirect Gost lozo T
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Identify the type of cost behaviour (fixed, variable or semi-variable) described by each statement below by
putting a tick in the relevant column of the table below.

/A 600 units costs are £1,200; at 900 units costs.
lare £1,800

(Costs are £5,000 at both 1,000 units and 1,500 units

42,000 units costs are £5,000 made up of £2 per
Junitand a standing charge of£1,000
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Classify the following costs as either fixed or variable by putting a tick in the relevant column of the table below.

[Electricity used to power machinery

[Salary of management accountant

IMaterials used n production

IMarketing budget for the year
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Complete the table below, showing fixed costs, variable costs, total costs and unit cost for the different
levels of production. You are told that fixed costs are £15,000 and that variable costs are £4 per unit.

[1.500 15,000 6,000 21,000 14

2,500 15,000 10,000 25,000 10

[3.000 15,000 12,000 27,000 °
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‘Complete the following total cost and unit cost table for a production level of 6,000 units.

[Material 168,000 2
|Labour 198,000
|overheads 360,000 80

[Total 726,000 121
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Complete the table below to show the unit cost at a production level of 24,000 units.

IMaterials 7
|Labour 7
|overheads °

[Total £
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Opening inventary of raw materials £11750
Purchases of raw materials 244,125
Closing inventory of raw materials 12378
DIRECT HATERIALS USED 243500
Directlabour 232,175
PRINE COST 75575
Wanufacturing overheads 227,250
WANUFACTURING GOST £102,025
Opening iventory afwork n progress 28,850
Glosing inventory of work n progress 29,100
COST OF GOODS HANUFAGTURED 2102675
Opening invertory of fnished goods 216,250
Glosing inventoryoffinished goods 215375

COST OF GOODS SOLD

£103,550
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You are told the opening inventory of a single raw material in the stores is 1,000 units at £10 per unit.
During the month, a receipt of 500 units at £13 per unitis received and the following week 500 units are
issued. Identify the valuation method described in the statements below.

[The issue of 600 units is costed at
le7.500

[The closing inventory is valued at
l£10.500

[The issue of 600 units is costed at
les 600
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Identify whether the statements in the table below are true or false by putting a tick
in the relevant column.

JAVCO costs the issue of 800 units at£2,160

[AVCO values the closing inventory at £600

ILIFO values the closing inventory at £500

[FIFO values the closing inventory at £600

[FIFO costs the issue of 800 units at£2,100

ILIFO costs the issue of 800 units at £2,400
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Complete the table below for the issue and closing inventory values.

FIFO 8600 11,400)

luFo. 11,400 8,600

javco 10,000 10,000)
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Identify whether the following statements are true or false by putting a tick in the relevant column of the
table below.

Iindirect labour costs include the wages of factory
lsupenisors

Direct labour costs are a part of cost of goods.
Imanufactured

SIS
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Identify the following statements as being true or false by putting a tick in the relevant column of the table
below.

[The employee produces 740 units in 30 hours of work
land receives a bonus of£2.

[The employee produces 950 units in 36 hours of work
|and receives total pay of £298.

[The employee works for 34 hours, producing 800
|units, and receives pay atthe rate of £8 per hour and
lno bonus.

SIS





image20.png
Identify the labour payment method described in the following statements by putting a tick in the relevant
‘column of the table below.

[An employee works 40 hours at
[£12 per hour, with £25 for efficient
lproducion, and eams £505 for
line week:

|An employee produces 800 units
|at 50p per unit ang earns £400
lforthe week

|An employee works 35 hours at
[£10 per hour and eams £350
ffo the week
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Calculate the basic wage, overtime and gross wage for the week for the two employees in the table below.
Note: f no overtime is paid you should enter 0 as the overtime for that employee.

[T Moore 136 hours. 301 30 421

b Laiy 139 hours. 301 7 486
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Calculate the gross wage for the week for the two employees in the table below.

lE Kriszyk 440 74

[MMorgan  |s60 478





image23.png
Calculate the basic wage, bonus and gross wage for the week for the three employees in the table below.
Note: f no bonus is paid you should enter 0 as the bonus for that employee in the table.

|A Hodges I3 lsos: 207 6 303

|o- Dattore €3 lp1s 381 18 389

Ip.Rossano 36 lss0 24 2 348
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Identify whether the following statements are true or false by putting a tick in the relevant column of the
table below.

|A favourable variance means that actual costs are
Jless than budgsted costs

[When actual costs are greater than budgsted costs
line variance is adverse

SIS
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Calculate the amount of the variance for each cost type and then determine whether it is adverse or
favourable by putting a tick in the relevant column of the table below.

pirect matrials son|  aas0] oo
pirctiabour vesm|  7as|  7so
Posucionoverneas | G240 se2s0| 1000
[romimstston 7350 21| s
[Setingsnaasttouton) 3500 s20m0| 250
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[Examine the adverse (A) and favourable (F) variances in the table below and calculate the actual cost,
indicating whether each variance is significant or not significant by putting a tick in the relevant column of
the table below.

— w 1ee] om0
[Direct labour 36,290 1,030 (A)] 37,320

T — e R T
e

loverheads 15,140} 630 (A)| 15770

[Selling and distribution|

[oaing ane 16870 420F) 16450
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\dentify, for the following significant cost variances, one relevant manager to whom the performance
report should be sent.

IDirectlabour [Production Manager v

[Administration overheads [Adminstration Manager v
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Indicate the characteristics for each system by putting a tick in the relevant column of the table below.

[This system reports to the managers how the
lbusiness might perform in the future

[This system produces statements usually once a
lyear at settimes

[This system produces statements that relate

[mainly to past events

[This system is useful to shareholders and other
lexternal users
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Classify the following costs itincurred by element (material, labour or overhead) by putting a tick in the
relevant column of the table below.

Paper used for photocopying

Rent of shop premises

Senicing contract on
photocopying machines

SIS

Wages of shop staff
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Classify the following costs incurred by nature (direct or indirect) by putting a tick in the relevant column
of the table below.

Ietal used to make the car parts

[Rent ofthe factory premises

[Wages of production employees paid on a
lpiecework basis

[Salary of factory supenvisor
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Classify the following costs incurred by function (production, administration, selling and distribution or
finance) by putting a tick in the relevant column of the table below.

|sugar used in making the drinks

|Botties used for the drinks

SIS

|Bank interest on overdraft

[Television marketing campaign





